Why Are Pecple
Rfroid of Taxes?

I. Write using Scientific Notation.

(¥) 32,000 (R) 82,100,000 (&) 641,000
(1 320,000,000 @) 6,410,000 (G 3,200,000
(F) 64,100,000 (® 821,000 ® 821,000,000

II. Write using Standard Notation.

(H) 4.3x10° (®) 6.21x10° (T) 5.25x 10°

000°000°GZS
000°00S%
0TI X 128
0T XT'C
000°129
0T X 15°9
0T X 12’8
00S'F
0T X158
000°0S2'S
OT X 159
000°0S¥
LOIXIZS
000°0T%‘9
0T X 159
01%'9
000°00S°GS
0TI XT'C
000°00T*Z9
0T XZ'S
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Why Is A Lame Elephant Like Adding 19 And 4?

Find the simplest form for any expression below in the corresponding answer column.
(Some of the expressions cannot be simplified.) The letter of the exercise goes in
the box that contains the number of the answer. Keep working and you will get the

m:mém_‘ﬁoﬁsmzzmncmmzo:.
x2 . x* ® 2x7 W 4n3t?) (3n%tY - @9 gn5s
@E:ﬁf?c Amaﬁm

3. x7 @ x2 + x5 ®
® (2n*t?) (nt?) @D —gn2t*
9

X

®

®

® x2-x AD x¢

© 2x*-x3 @0 6x3 ® (~n3t) (78021} A9 —12n7*
® 3x2.2x @5 x3 ® (4nbt) (3ntd ® 2n¢
N x2.y3 D x2y? @ (t?) (2nt) ® -8n3tS
® x2+ x5 @ x1° r. ® (~n?1) (813 (2 2n5¢
INNANA RNNRNANNRNNRNIE NN
© (3v?) (4vd) @® —10v5 S ® a%-a® 9 6a2p*
©@ (~2v3) (5v3) 9 18v2 p ® a%.pt . @D a*p®
® (9v¥) (2v) @) 2y2 +7v & © a*+ ab @ -6a3p?
® (“6v) ("3v) ® —18v5 D (~3ab?) (2a?b) A9 a0

® (2v?) (7v) @ 12v7 ® (3b) (2ab?) @ a*+ ab
® 2v2 +7v @ 14v2k ® (“6a2) ("b) ® -6ab*
® (2v?) (7k) @ 14v3 © (2a2b) (3b3) (3 6a2b
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